ZHY00L = 4'VW Q'L =2 :p 310N ywi =% =8 ywol =21z 80N
‘ZHY 0'G = 'y 001 =71 E 8loN ‘0z =9/ NHE Y
SNOILIGNOD 1531
0st 274 (v6)
1 oL ¥ | 00b €0 T 00k 0L} O0OS o00L| S |oOs| 09| zOL §181082
(ve)
L 0z | o1 osL | ¥ | oot €0 } 009 06 | 06 ooL| 5 | os | 09 | 26OL SP60S2
0st s2 (¥6)
69 ob L | ooL €0 Z ooy oL | op ooL| S | 0S| oS | 2eOL| stowvse
(¥6)
69 0z | ot osL| 9 | oot £0 L 009 06 | 05 ooL| 05 | 05 | 09 | Z6OL £ELVS
(z6)
{54 (1 210N} L ose | L1 | 0L S60 €0 b oz o0z | st oob| € | 5L | 8| Z6OL EE[E
(26)
(534 z oor ) L1} o ! €0 b 8L 2L [ 0Z 05| S | SL | og | ZBOL 18L06S0
(z6)
£ F4 oor | £v | o1 ! €0 b 0L 2. oz 05| S | G| O£ | BOL| 980680
(z8)
54 4 oov | 21| o1 L €0 I 08 6|0z o5 | S | Gt | oe|ZeOL 48L06SD
(z6)
£y 4 oor | L1 | oL L €0 I v 8z |0z os| ¢ | s oc|zeoL| asLoesO
(z6)
14 (¥ 810N) S l oo | 91 | oL b £0 i obl 6| 02 0S| § | o0z | oe | 26OL HOL06SD
(26)
14 (¥ 310N) S I ooe | 91 ] oL 1 £0 l 08 6|02 05| G |0z | og | Z50OL 4910680
(z6)
79 (£ =10N) oL | oL ooL{ 9 | o I €0 | 009 002| 0c 0S| G | OF | 05 | 260OL | OSL06SD
(z6)
20 (€ @10N) oL | ot 0oL | S¥ | O ) €0 1 009 00Z| 0c 0S| S | O | 05 | 26-OL | OKLOBSD
. xew w) XeN N | XeW XeW U XeW XeWw ul XeW | UIN | YN | WiN .
on | suompuod | (gp) |V o Gy | ) | Mg g W) fou om0 Do | 0| 00| w | ok | o
ss000.d oL N | L ©y | 1 vems, uvemo, | 3y A ous, [oe3, |0, | om0y €0 | ®ameq

(Penuguoo) LIS JOWUNSUOY)

S9LI9g JOWNSU0)

2-82

M 501130 0O0O40531 425 WA



